204 53 i = X 15
AR 4 - BOET BOLHEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® & # ®
B KR b X
1 BERRAM M — | BRER | IhMY HYE LR LY - -
2 EELS o 40 | 11| R¥E RRYH bRVE kW | —
AT LR X
1 5 SRR sk e Jl - R A X B 40 | L1|P 12 19%E 7o 7.6 |  —
2 kLK 40 | L1 13 20fh 9. 56 9.5 | —
HEEm1~8TH |28 — | B | Rt tl:i/ér b pevy | —
HMABER1I~7TTH & — | B o T e e e
iy L IR 40 1.1| tb#E H¥E tevE BRYE - -
AT LA X
1 R RILPES R R K 40 | L.1(# 15 23@E 108 100 —|  —
2 LRSS ORI
(1) J2 M i —f 9.4 199 - - - -
(2)  EERBist oKk 40 | L1 15 34 13WE 13— -
B AL = s IR R T
1 R i 8 st 13 | |~ —
2 EREEIA DX 30 | L1|F 1off 198 13w 13 0 — -
LFRELLS D K3,
1 =R —t 9. o 16— - —| —
2 ERCLA DX 30 | L1|f o1ff 27 1eh 16 0 — -
T 18 e — | BRER | PLUE LLWE LYE LLYE - -
TEAMER L TH |25 — | BEAR | LbME LR LT mﬁ - -
REAMER 2 TH |2 — | BBAR | bk Hh¥E vE bvE - -
N R R R 30 | L1k 8.4 13%0 2.90 2.9 | —
2 M [ER(AEes 40 | 11| ey tl:@r tt;@[ﬁttf% - -
T (LR X
1 BB sl )R IRAF R
(1) 25 pCing —fll mﬁ I e I




A 294F ) i = X °H
i RCET A4 - BT B BGE
e R ks @ A o w4 [P PEEERTIBEITOGES
W e AN (2)  EFRELIA DX 40% 1.1%43 1243 zﬁm fiq: 1f2 [
2 LEEADKIEE
(1) B —l 1gpE o199 | —| | —
(2) EFESAA DXL 40 | L1|foagd s 13 13 | —
HHE i Ik
1 [EE 16 5 SR — | BRAER | LM bh¥E b ben | —
2 _RELLISh o HiE 40 | L1| hnE bR pvE by | —
AT AR X g
1 R —t 1 19 | —| | —
2 EREEESR R
(1) EE1 6 580 — | B 19 31 8T 87 | —
(2) BRSSO 40 | L1|F 18 26ff 2.96 2.9 | —
S = F i —l 590 6.3 | - - -
ERLEASR D X 30 | L1|% 8.5 13 3.5 3.5 —| @ —
=R = [ —fl 5. 9l 6.6 - - — —
LELS DR 30 | L1|F 8.9F 13Fm 3. 2{(»& .9 - -
9 kzE b P — | B | thHE bhHE MR MR — -
A LS K 40 | 11| 2o 31 13p 13 - —
| | i P — 1o 18 | —| - —
LRCLASR D XI5 30 | L1 19 s 14 14 — -
| KRR Fot Y b R s —E e 19— - - =
EFRLA o I
1 FEMGEBIHEAREFROR 40 | L1(F 23F 32t 17 17— —
2 LERLIS o s 40 | L1 2o 31 1gfh 15— —
A4 [ER(AEes 40 | L1| He¥E W VR bW | -
T (LR X
1 BRI AR R E R 40 | L 1| 16 21FL 1088 100 | —
2 ERELS X




A 294F ) i = X 3E
AR 4 - BOET BORUEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| A H (1) = FH i b ak — s 220 - - | -
(20 EFLSh o XI 40 | L1|h 22 4o 13 13 0 |  —
N ok FH 1L X 35 —WE 9. 1pE 14 — — — —
EELIA 0 KR 30 | L1|P 15F 20 14 14 | —
HR ke — | BEAR | PbME bk¥E v e | —
PN} i FR b X g — ton 17 | | | —
ERRLISN O XI5
1 EEMCHERC AR ESFRIG 30 | L1|h e 34 - - | -
2 LRELU o i 30 | L1|F 13k 324 w4 14— —
SRR A L X I —hL 1R 19 — — — —
R O K IE
1 [E#E 16 6BHRH 30 | L1|F 23F 370 460l .6 | —
2 LELU OISR 30 | L1 19F 35Em 2.3 2.3 - —
IR T X Sl —l o6 8 6.3 - - - -
e NG 30 | L[ o8 U 13 3.2 3.9 —|  —
U N-¥7 = F i D —l 6. U6 6.3 —| - - —
RFRRLIA D K ek 30 | L1481 13Fm 3Tm 3.4 = -
AR (ke |1 — | B | Lb¥E MR MR LLTE - -
A LA KR
1 R RILFE SRR R AT Xk 40 | L1|h 13 19 1p@E 11— —
2 LFEEA ORI
(1) 2 H bk — s 11rﬁ 16 - - - -
(2)  _LEELASh D HEL 40 | L1(F 14 274 . -l -
TE FEM BRI S ERE 30 L1|f 9.0f 15 - -
RERLIA O I 30 | L1 8.gf 14 - -
o £t — | BEAR | SLME Lk - -
& frd i L X Ja —J#ti 6. 186 6.3 - =
FELS ORI 30 | Lol 8.4 13 - -




204 53 s ® K 1H
AR 4 - BOET BORUEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
Dy R (ikcakAE: — | BRMR | PR HYE phME phYE - -
A L Xk
1 Zhml e AR R PR A H X 40 0.8 |9 11fr 18FL 1LHE 11 - -
2 b =R SR A R LR A DI 40 | L1 1gF omeh 1 12 | —
3 FELME Rk 40 | L1(P 21fF 32 15 15 — —
r2E ML — | WSR | th¥E Lk¥e k¥ kv — -
AT LA DI
1 BRI —# 1GpE 22 — — — —
2 LR KK 40 | L1 g 31 - - - -
B 2 X I —ftio6. i 6.3 | | | —
LRSS ORI 30 | L1 7.6F 13Fm 3.4 3.4 —| —
& Eoei — | HEHE | k¥R RhYE l:l:%r Rt - -
O] [EEEIE (A% — | B | Pt EkHE bW W | —
[iReaR ok dme
1 RBRILEESA R R TT Xk 40 | Lo 23 o1y | —
2 BRSO XK 40 | L1(F 19 20 14 14— —
&| deEH B i X Sl —t 5.9 6.3 - - - -
LRCEAS DRI 30 | L1 8.5 140 356 3.5 — —
Jeih I 30 | 1L.1|% 8.5 14F@ 2906 2.9 — —
=1 [iRCx s 1 — | BEAR | ftMH kMR Lk M - —
AT LR Kk
1 BRI — 1epl 22 - - - -
2 EREEAA DX 40 | L1(|F 19 3 13 13— -
<| &) =35k 1w —E 1290 18 - - - -
EERLA O KIS 30 | L1|P 1gF 27F 14 14 | —
b s S SR A B AR AT K
1 R —f#t 5. 45l 6.3 - - - -
2 kRS OXIE 30 | Lo|f 8.7 12@ 7480 7.4~ —




A 294F ) i = X 5E
AR 4 - BOET BORUEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| B LFELIS D RS
1 B —#t 6.0 8.9 —| - - —
2 EELIS X 30 | LU|P 1 (TR 8.8l 8.8 —| —
FRIg; L K
1 Ei#E1658®&080, — | BEAR | fbYE LRV Y Wy | —
o RIS i 30 | L1| fu¥E k¥ phvE bk o —
AT LA DI
1 RAHEER e o1 | | | —
2 LRSI
(1) EE16 55800 — | B 15 28 104 10 - -
(2) RS HuIER 30 | L1 14ff 268 2.8 2.8 —
z| 1A 5 A M IR —|i 5.0 6.2 — — — -
HEEIEANGYES 30 | L2|f oo.oF 1332y - —
S FoE Y Hb X —ffH 6. O 6. 4 - - - -
e NG 30 | L1|F 8.5 I3 3.8 3.2 —| —
RF A b I — | B | el tl:i‘j bti’érgtti% - -
T LA X
1 R S R AR AT R Ak 50 | L1k 21fF SiHE 9.9 9.9 0 — —
2 RSO KIE 50 | 11| 2o 3sF g 14 - —
U| #EEF itk Rk
1 Bl — | BRAR | PbME bWE b M - —
2 LRSS OHIR 30 | 11| k¥R pwE bevg v - —
A AR Kk
1 BEHMilh s — | B o23f B4 1o 120 | —
2 EEUS O
(1) A b =R 50 Y AR AF Xk 30 | LL|b 18 27kl 1ue 1] 0 - —
(2) EFLS ORI 30 | L1|h 2 3upn 1k 12 | —
<z AT b XIS — | R | fhiH LkEE Lbdy eME | —




TR0 5y i 2R * 65
AR 4 - BOET BORUEE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
Y= T LA Xk
1 B — 1A o211 |~ —| -
2 LELRIAA DS
(1) EGE16 9 5#Hany 40 | 2P 2o 35 - 9~ - —
(2)  _EFELASh ol 40 | L1(P 16 29 13 13— —
T FEL ) 3 X 3 —fispie | — | - -
RS DK 30 | L1|P e TR 12 328 3.9 —|  —
T35 R R X letoopti6.3 | | | —
LERUA ORI 30 | L[ 7.9 (30 3480 3.4 —| —
ko] = F Xtk —t o6 Ut 6.3 | —|  —|  —
LRRLIA o Kk 30 | L% rooff 13 2.2 2.2 — —
HA 5 A M IR —fll 6. oraz 6.3 | - -] -
HEEIEANGYES 30 | L1|P 8.3 13 2.4 2.4 0 -  —
FE T X Sl —l o.M 13 —-| - - -
LRELLA DR S5
1 EEMTERH HIEA TR 30 | LifFo1eff 28— - - -
2 _ERCEA Ot 30 | L1|F 1gff 23 14 14— -
R = PR I —l 6.0 6.3 —| - - -
LRSI 30 | L1|f 8 13 3.4 3.4 —| —
MESES = PR Ik —ft 7ooE 1] - — - -
FREELA o Rk 30 LU 13 164 8. 7HbE 8. 7 - -
PN ek AEz — | BRAR | kM bk J:t@rﬁttf@ - -
A AR Kk
1 R —l 1gpE 15 | —|  —|  —
2 FELS X 40 | L1|foagd 23 g 17 | —
& H it b 40 | 11| k¥ e bR pEvE - —
AT AR K ek
1 R — | 12f@ 1 B




A 294F ) i = X 7H
i RCET A4 - BT B BGE
R I B B B S B =y i TSt v
% e = * ® = # ®
7z| 2 LRSS OKIK 40 | L1 18 3IfE 12 12— —
ey P PR A X S —ot 5.8 61—~ —| -
LRSS 30 | L[| os i I3l 3.4 3.4 —|  —
® i — | B | PhME phWE e peTH O |
Bl F i Ik — | BEAR | rhME Mk¥E hME ke —
AT AR K ek
1 LR B LA B IR AE X 40 | 0.8|F 9.2 15 1 11 0 — -
2 ERESAOHIX
(1) A7 L= L A i AR A Rk 40 | L1 13k 20 120 12 | —
(2)  EREBS DK
A BEAHIKIR —l o.M 15 | —|  —| —
EECINENOIES: 40 | L1|F 18 26 18 15—  —
| 3 EiE 1 6 9 5% & 0 wEfilo ik 30 | L1|Fo w3 o2 ok o1~ —
RERLAA D Hitke
1 b = s A B R O
(1) FH 3 b ing i 8.6 120~ —|  —| -
(2) kRSSO 30 | L1 1k 198 1 11— —
2 LR DK
(1) J= i g — i 11Fﬁ 16 - - - -
(2)  LRESASh oD X 30 | L1|h 14 268 148 14 20— —
& ZRIE =i 30 | L1|F 8.5 130 308 3.0 - -
Sl [k kIAES: — | BRER | PR bhME ey kW | —
LR R
1 B SRLLEE s e AR A7 R b e T 40 | L[ 24fF 3ifE 1ofE 100~ —
b = S0 S AR AT KA
2 LRELMSA ORI 40 | L1(F 29 38 13 13— —
BH I 30 | L1 w18 |~ —| -
s A 5 F i X —l 5.8 6.1 - - = —
LEDA O Kk 30 | 1. 1]d 7.9 130 3.4l 3.4 0 — —




Trk29tsy (R 8
AR 4 - BOET BORUEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
i A i 30 | L.1|% 8.5 13F@ 3. Brm 3.6 - -
[P £ — | BRER | IhMY HYE LR LY - -
iy E (kR |MEe: — | BSAR | fh¥E bkve vE [kvE - -
AT LR X
1 Ak =wwEE A E R X R
(1) JRH R —pn 1 18 - | - —
(2 RSO 40 | L1 14[:E 2T 13 13— —
2 ERRESAOXIER
(1) B2 A s —e 13 o200 | | | —
(2)  EREBS DK
4 EE16 95REW 40 | L1 16 37 16 16 < — —
=S TV W B4 N k1517 40 1|9 15F 364 154 15 — —
ES [EEEIE (A% 40 | L1 PR RRWE pRWH bEHE | —
[iReaR ok dme
1 BB L R R K 40 | L1|H 19 Suft lo@i 100 0 —| -
2 LRSI
(1) R X —l s 220 —-| - - -
(2)  EFRELAA ORI 40 | 1.1|% 20 36+ 13+ 13— -
ol ke kIR
1 EE16 5 FMATCEEAERS | — | B | ¥ iy vE iy — -
T HALE
2 _ERLEMA ot 40 | 1.2| ¥ bbTE YR RRHE | —
A AR K
1 R —t 1 o200~ —| | —
2 hEES oK
(1) EE16 558Ky — | B 19 SR 8RBT | —
(2)  ERELAAOHIE 40 | L1|F 18F o7 2.5 2.5 0 —| —
#hE R 30 | L1485k 13% 3.4l 3.4  —|  —
O HH fe P 4 X33 —ffi 8. 3l 16 - - - -




SPRk204E 5y (EE= S 0
AR 4 - BOET BORUEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
N H=H FLEAAR O K, 30 L1914 27 — — — —
T b Xk — | BEAR | PbME b | - | -
AT {L A X
1 RAHXIR et 1o 19 | | | —
2 EELIAA DX
(1) FEEHFERH AT SR | 40 L1 18 30 - - - -
(2) _ERELASR O HIR 40 | Ltldo o o280 | - | —
L5 FE2: R i X I —ooi 13 | | | —
RS DK 30 | 1L1|# 14[: 26— — — —
E| BEN R FR i [ et o 18 | | | —
R O K IE
1 [EE16 9 5HnN 30 | L2|F 18F 38 — — — —
2 LELU OISR 30 | L1 w4 27 15 15§ - —
KEM 2 P b — 13 18 | - - -
e NG 30 | L1 1R 279 4p 14— —
TR =AY = F i D —t 5. 7 600 —|  —| - —
RFRRLIA D K ek 30 | L% 7.6ff 13 3 48i 3.4 0 — -
BEE R F L X5 —|#t 5. 7l 6.0  — - — _
ERES DK 30 | L1|F 7.9F 13F@ 2. ;Tm 2.9 —| -
= itk Rk — | B | fhHE HME HME fhHE — -
AT LR Kk
1 =L s R AR A7 1 X 40 | 0.8 17 19 1uME 11 | —
2 LEMADOHIX
(1) 7 =t/ AR AR AE K 40 L1 oo 20t 1200 12 - -
(20 LFELS O RIR
A BRI —la 1ol 21 — — _ _
o _EREEAA O K 40 L1|F 25 37 154 15 — —
& G P X et 7 lf@ 8 | A




A 294F ) i = X 108
AR 4 - BOET BORUEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
b\ RO K 30 | L1 8.5f 133 3.0 3.0 —| —
R AFHA Ezecn 30 | L2|h 8.5 13Eﬁ 3. o[: 0 - -
i BE AR S L - PR AT I
1 AR —lsoge o | | | —
2 EERLS ORI 30 | L1 87 13 9.9 9.9 —| —
LFREIA D K 5
1 AP 7489 | | | —
2 kRS oRk 30 | L1|Po.9f 15w 106 10 0 — —
X| BEAt 2 F i Xtk —oroe 11 -~ —| =
FELA DX 30 | L1 8.5 I3 2. 98 2.9 | —
B ) R —l e M 6.4 | —|  —|  —
LRELIA D RS
1 EE1655HBBWN 30 | L2(T 20f - -
2 _ERLEA iR 30 | L1 7.5 - -
n| EH Ece 30 | 114 8 4 -l -
B Ex: 30 | L1|T 8.5H - -
| A [Rca A%
1 BT e — | B | Lb¥E MR MR LLTE - -
2 LEEA 30 1.1| fE¥E L% bevE b - -
A LA K ik
1 [EE1 65 5#ny — | B&#R | o8 4efL 15pE 15— —
2 LRSS OHIR
(1) A b =8 sk i R AR A7 Xk 30 | L1|h 1ok 208 1 11— —
(2) EEELS ORI
A R —t 1o 1M - | - —
o RFERA O KR 30 | L1|f 17ff 32 13 13 — -
T Fr P 0 T T | B R I
RSO KIS 30 | L1 7.gF 13@ 3.4 3.4~  —




